DELHI PUBLIC SCHOOL, BHILAI

Date : 20.09.2019 MID TERM EXAMINATION, 2019 Time : 2 ¥ Hrs.
Class-X SUBJECT — COMPUTER APPLICATIONS M.M. 30

(femmmmacns: |

Y

w»  All the questions are compulsory, however internal choices have been given in few
yuestions.

.

%  The question paper consists of 12 questions.

SECTION A
Q1. Multiple choice guestion: (1*3=03)
(i) The first page that you normally view at a web site is its: :
{a) Homepage (b} Master page {c) First page (d) Banner page
{ii} Pick the odd one out:
(a) Amazan [b) e-bay (c) twitter {d} naaptol
liii) Which tag is used 10 bring the text to next line?
(a) <br> b} <b> (c} <p= (d) =li=
Q2. What does <BODY>1ag in HTML contain? (01)
Q3. What is an e-group? {01}
04. What do you understand by term URL? (01)
SECTION B
Q5. How is Facebook different from Twitter? {02)
Q6. Differentiate between a web browser and web server. {24}
Q7. What is the difference between container tag and empty tag? (02)
Q8. What are table sections? How can they be crealed? (02}
OR

What for are rowspan and colspan attributes used?

Q9,a. Whatisblog? Wholisa blogger? 21 (03)
b. Whatis a post? 1
Q10. Discuss the structure of an amail message in brief. {03}
CoR
Define the terms:
{1) e-learning {2) e-shopping (3} e-reservation
Q11.a Write the HTML code to creale a table with cells having different {3+2=05)

row and colurmn spans,
P
3 4 |
—
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b. What for is Mailto function usad?
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Q12. Write the HTML code to generate the following output:

Enjov the world of pure travel masti scsss
Thoe followang 13 2 hat of majer tounet attrections m Duka

= Tulprning - Dolphmarnn and Paing Dubas
#* Exening - Sla Duha aad Crase

i
For anquares wiite it duseif el oo 1

Note : The following points while Eenerating the webpage:
1. Title of the page should be “Dubai Tourism"”.
2. The heading text “Welcome to Dubai® is in Arial font and is of maroon color.
3. The horizontal lines below the heading are 5 pixels thick and of red color.
4. Image used in the page is brul.jpg
5. The bulleted list contains links as specified below:

. The text Morning is a link to the webpage “morning,htm!"

. The text Evening is a link to the webpage “evening.html”
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DELHI PUBLIC SCHOOL, BHILAI

Date : 18.09.2019 MID TERM EXAMINATION, 2019 Time : 3 Hrs.
Class- X SUBJECT ~ ENGLISH LANGUAGE & LITERATURE M.M. 80
GENERAL INSTRUCTIONS :

» The question paper is divided into three sections: A, BandC.
Section A: Reading : 20 marks
Section B: Writing & Grammar : 30 marks

Section C: Literature & Supplementary Reader : 30 marks
#= All questions are compulsory.

# You may attempt any section at a time.
® All questions of that section must be attempted in the correct order.

SECTION A: READING (20 MARKS)
Q1. Read the passage given below:
All along the 450 mile stretch of west coast of America is the home of the tallest trees in the world.
Once, in this narrow hinterland of the Pacific Coast, from California to Southem Oregon, were two
million acres of these trees, the Coast Redwood., Today there are just a few hundred acres of them in

Redwood Belt's scattering of State Parks, protected forest reserves amidst which are stands of the
giants,

About 25 miles due south of San Jose and the heart of Silicon Valley is one of the smaller of these
stands, just 40 acres in the midst of the 4650 acres Henry Cowell Redwoods State Park. And there |
found myself that morning not so long ago peering up to spot the tops of trees that seemed to be

touching the skies. All | got was a crick in the neck. A tip for other Escapists. Stick to looking at the thick
and rough barked trunks.

But even looking at a trunk when you try to grab a view of the Giant's trunk from close can be quite a
challenge. The Giant, the Star of the Park, has 3 trunk with a circumferance of over 50 feet and a
diameter of 17 feet. May be you can, but | couldn’t take in all in. Nor could | come anywhere near taking
in the whole 275 feet of the Giant’s height. Once the tallest Redwood, it lost its title when a storm
several years ago knocked down 75 fest of its top to bring it to its present height. But it'll need the

mother of all storms for its record of being the oldest tree in the park - an estimated 2000-plus years
old-to be knocked down,

You wonder at such a giant growing from a tiny seed; 100,000 seeds to a pound will give you an idea of
how tiny! You wonder too about the marvel of a root system that sinks anly six to twelve feet holding up

such giants till the ranger you are talking to explains that the roots spread faterally and interwine with
the roots of the other Redwoads to create a carpet.

On the basis of your reading of the passage, answer the following questions briefly; (1xB=8)

(a) How many acres were covered by the redwood trees initially?
(b} Why are these forests protected?

(c) How do the Redwood trees appear?

{d) Why does the writer advise visitors not to raise their necks?
{e} What does the author mean by ‘Star of the Park'?

if} How did the giant tree lose some of its height?

g} What does "Mother of All Storms’ mean ?

th) How do the roots of the tree hold it together?

Q2. Read the passage given below: (12}

{1) Have you ever failed at something so miserably that the thought of attempting to do it again was the
last thing you wanted to do?

(2) If your answer is yes, then you are “not a robot.” Unlike robots, we human beings have feelings,
emotions, and dreams. We are all meant to grow and stretch despite our circumstances and our
limitations. Flourishing and trying to make our dreams come true is great when life is golng our way.
But what happens when it's not? What happens when you fail despite all of your hard work? Do you
stay down and accept the defeat or do you get up again and again until you are satisfied? If you have
a tendency to persevere and keep going then you have what experts call, grit,
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{3) Falling down ar failing is one of the most agonizing, embarrassing, and scariest human experiences.
But it is also one of the most educational, empowering, and essential parts of living a successful and
fulfilling life. Did you know that perseverance (grit) is one of the sevan gualities that have been
described as the keys to personal success and betterment in society? The other six are : curiosity,
gratitude, optimism, self-control, social intelligence, and zest, Thomas Edison is a maodel for grit for
trying 1,000 plus times to invent the light bulb. If you are reading this with the lights on your room,
you know well he succeeded. When asked why he kept going despite his hundreds of failures, he
merely stated that what he had been wera not failures. They were hundreds of ways not to create a

light bulb. This statement not only revealed his grit but also his aptimism for looking at the bright
side.

(4) Grit can be learned tg help you become meore successful, One of the technigues that helps in
mindfulness. Mindfulness is practice that helps the individual stay in the moment by bringing
awareness of his or her experience without judgement. This practice has been used to quiet the noise
of their fears and doubts. Through this simple practice of mindfulness, individuals have the ability to
stap the self-sabotaging downward spiral of hopelessness, despair and frustration,

(5} What did you do to overcome the negative and self-sabotaging feelings of failure? Reflect on what
you did, and try to use those same powerful resources to help you today.

2.1 On the basis of your reading of the passage, answer the following questions in about 30-40 words

each, {2X3=08)
{a) According to the passage, what is the key to personal success and betterment in society?
(b) What is perceived as Erit?
{e) What do you learn from Thomas Edison’s life?
{d) What is mindfulness? How does it help an individual?

2.2 Find words in the passage that mean : {1x4=04)
{a) In paragraph 3, the synonym of distressing is .
(i} embarrassing (i) agonizing (iii) failing (iv) stressing
(b) In paragraph 2, means continue.
{i) stretch (ii} satisfy (iil) persevere (iv) flourish
(c) Find the antonym of ‘pessimism’ in paragraph 3,
(i} curiosity (i) gratitude {iii) optimism (iv) grit
(d) Which one of the following is not a synonym of zest?
(i) zeal {ii) enthusiasm (i) passion {iv] apathy

SECTION B: WRITING AND GRAMMAR {30 Marks)

Q3. You are very much worried about children who focus only on academics. They find no time to read
anything other than their course books. Their parents also force them to do <o, Their only anxiety is
marks and more marks In the examinations. Write an article for your school magazine in 120-150 words
showing your anxiety about the trend titled ‘Marks and More Marks’. (08)

OR
You are Anshu /Anshuman staying at 8, Mayur Vihar, Raipur. Last month, you bought a video camera
from Modern Electronic House, Karol Bagh, New Delhi against a warranty of 2 years. Now you discover
that there is something wrong with the camera. It doesn’t work for more than 30-40 seconds at a
stretch. Write a letter to the dealer giving him the guarantee card number and other details regarding
your complaint, asking him to attend to it or replace It at the earliest. (120-150 words)

Q4. Write a short story in 200-250 words based on the inputs given below. Also give it a suitable title. (10)

Two teams-- in the playground -- whistle blew--match about to begin--the two captains looked
tense -- suddenly there was a commotion,
OR
Taking the given lines as the beginning, write a story In about 200-250 words. Also give it a suitable
title.
While waiking out of the hank, | saw a monkey walking menacingly towards me. | panicked. The
menkey snatched my bag and ran up anearby tree, | ..o,
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Q5 Fill in the blanks using the best options given in the brackets, {o4)
About half of India’s children aged between 6 and 14 do not go to school. About 5.5 crore children
{a) oo (worked, working, has been working, work] in factories, cottage industries (b} ........... {and,

around, about, some) in the agricultural sector. One of the most IMPOrtant (€) woooemenn..
(reason, reasons, reason’s, reasons’) for our nation’s {d) ... {backwardness, backwardsness,
backness, backward) is illiteracy,

Q6. The following passage has not been edited. There is an error in each line. Write down the error along

with the correction in your answer sheet as shown in the example: {1x4=04)
B ) Incorrect word Cnrrecﬂni
Today most and more organizations Ex. most more
gmrganiztn:g handwritten competitions. fa) -
| With an advent of E;ﬁuters, the focus (k) _
| has shifted for teaching handwriting skills {c) i
| to ke-,rbﬁard sl:"lIIS. As a result, handwriting is fouﬁinglm value, (d) N

Q7. Read the conversation between two friends and complete the paragraph given below. Write the answers
in your answer sheet against the correct blank numbers. Do not copy the whole sentence. : (1x4=04)
Joice : When is your aunt visiting you?
Mary : She is planning to come next week.
Joice : Wouldn't our exams have started by then?
Mary : That's true. I've called her and requested her to come only after my exams.

Joice asked Mary (@) --===smesmemema e -- Mary replied that (b} —-------—--———- — lpice enquired

{c) by then. Mary said that it was true and added (d) and
requested her to come only after her exams.

SECTION C: LITERATURE {30 Marks)

Q8. Read the extracts given below and answer the questions that follow. Write the answers in one or two
lines only. (1X4=04)

The house the only one in the entire valley - sat on the crest of a low hill. From this height one
could see the river and the field of ripe corn dotted with the flowers that always promised a good
harvest.
[a) Whom does ‘the house’ belong to?
(b) How many houses were thera?
(c) What is the synonym of ‘top’?
(d) What does ‘dotted with flowers’ mean?
OR
{There is a languid, emerald sea,
where the sole inhabitant is me —
a mermaid, drifting blissfully.)
a) Name the poem and the poet.
b} Who do these lines refer to?
¢ What does the person want to do?
d) Pick the word from the lines which means ‘relaxed’.

QS. Answer the following questions in 30-40 words each. (2x5=10)
{A) First Flight- Attempt any 3.
{a) “They were beckoning to him, calling shrilly."Why did the seagull’s father and mother threaten and
cajole him to fly?
{b} Why does Anne want to keep a diary? Why does she feel she can trust a diary more than the
people?
{c) Why is 10 May, 1994 considered an ‘autumn day’ in South Africa?

{d} Why does the poet say, "l would not intrude on him™? Why doesn’t he offer him money to buy
another ball?
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{B) Footprints Without Feet- Attempt any 2. €
(e} Why is Dr. Herriot tempted to keep Tricki on as a permanent guest?

{f) Why didn't Anil handover Hari Singh to the police even when he knew all about the theft?
(8) How is Ausable different from other secret agents?

Q10. Attempt any one of the following questions in 100-150 words. {08)

Maddie loathed the business of asking Wanda abaut her dresses but she found it difficult to stop

Peggy from doing so. Why could she not stop Pegay? Was she afraid of losing Peggy's friendship?
Write about the values one must possess in a true friendship,

OR

Freedom is such an essential virtue that is valued not only by human beings but also by animals.
lustify the statement with reference to Leslie Norris's poem ‘A Tiger in the Zoo'.

Qil. Answer any one of the following questions in 100-150 wards, {8 marks)
Fresence of mind and intelligence are more powerful than a gun. How far is it true in case of Ausable,
the secret agent?
OR
Horace was a successful thief because he carefully planned his thefts and robbed only the rich. Should

we call him successful and appreciate his work? What values/qualities does he need to imbibe to be
called a good citizen?
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DELHI PUBLIC SCHOOL, BHILAI

Date : 03.09.2019 MID-TERM EXAMINATION, 2019 Time : 50 Min.

Class- X SUBJECT - GENERAL KNOWLEDGE M.M. 50
Name : Roll Na. : Class & Section

i Invigilator's Signatura
General Instructions :

1. All the questions are compulsory.
2. Tick the correct option. Cutting and over writing for changing the answer will fetch “NO MARKS".
3. Each question carries one mark.

Barely is ground to powder. The powder 15 mixed with water and some yeast. The mixture is kept in a closed
and maist container, Which of the following will be produced?

fa] Sodium bicarbonate (b) Alcohol only (c} Carbon dioxide only  (d) Alcohol and carbon dioxide
Which is the main function of RBC?

{a} To fight disease in the body [b] Tocarry oxygen to different parts of the body
{c) Toincrease levels of WBC (d] To arrest bleeding

Find the odd one oul of the following:
[a) Cotton by Silk ic) Waool {d) Hair

Which of the following rotation, of crops will reduce dependence an the use of chemical fertilizers?

[a) Rice and Chilll {&) Wheat and Potato  {c) Potato and Rice (d) Gram and Rice
Which of the following is a source of instant energy ?

ta) Salt (b} Glucose (c} Water {d] Starch
The biclogical treatment of waste water makes use of
{a) Aerobic bacteris and Tungi (b} Anaerobic bacteria and algac
(¢} Aerobic and Anaerobic bacteria (d} Anaerobic bacteria and eucalyptus leaves

The nasal openings to human baings are comparahle to

(a) gil's ot fish  {b} blood vesselsin an earthworm  (c) spiracles of the cockreach  {d) reol halrs of plants
Rani had an uneven plot of hand in which water was scarce. What system could she adopt for irrigation?
a] Canal (b] Sprinkler {c) Drip [d} Hand pump
Which of the following has the same monomer unit?
{a)} Nylon and cellulose {b) Polyester and nylon  {c) Rayeon and nylon (d) Cellulose and rayon
Which of the following will be suitable for coating dress materials of fire-men?
[a) Mylan () Palyester e} Melamine (d} Acrylic
A highly reactive element X is stored under water. [t readily reacts with oxygen of air to give a compound Y
which dissolves in water, The agueous solution of ¥ changes blue fitmus solution to red. The element X is
{a)} Sodium b} Sulphur () Phosphaorous (d) Potassium
The gaseous fuels (a) burn without producing smoke (b} have low calorific value
fc) are easy Lo ignite (d) have high calorific value
Select the correct alternative
(a) AandB [b) Band C fc) Cand D (d) Dand B
Which of the following air pallutants reduces the axygen-carrying capacity of blood?
{a) Carbon dioxide [b) Carbon monoxide (e} Sulphur dioxide {d] Mitrous oxide
Which of the of following are responsible for causing acid-rain?
{a} Oxide of sulphur and carbon dioxide {b} Oxides of nitragen and carbon monoxide
{c) Hydrogen sulphide and carbon dioxide (d) Owxides of sulphur and nitrogen
On washing with soap, & turmeric stain on the cloth turns to red because (a) soap solutian is alkaline

{2} s0ap solution is acidic (c) turmeric contains a natural indicator (d) turmeric contains litmus
Select the correct alternatives:

[a}) AandC (b) BandC lc) Cand B (d) AandD
Which of the following are usad as an antacid to reduce acidity in stomach?
{a} Sodium carbonate and sodium hydroxide {B] Magnesium hydroxide and sodium hydroxide

ic) Sodium bicarbonate and calcium hydroxide  (d)} Sodium bicarbonate and magnesium hydroxide
Which of the following is a chemical change?

{a} Melting of ice (&) Burning of magnesium in air (¢) Dissolution of sugar in water (d) Blowing of wind
By blowing between two balloons hanging close to each other you observe that they come clower, A similar
phenomenon is seen in

(a) the lifting of an aeroplane (b} kite flying
(c) the lifting of balloan filled with hydrogen gas  (d) take-off 3 rocket
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19 A stone tied to string is whirled in a circle. As it is revolving, the string suddenly breaks. The stone then

(a) flied off radially outwards (b} flied off radially inwards
i) Mies off tangentially {d) moves in a circle of larger radius
20 A pErsQn moves a certaln distance in a certain time. If % of the distance is covered in 2/3 of the time with
speed Vy, and the rest of the 2/3 distance in % of the time with speed V., then Vs is
(a) % {b) % (c) 4/9 (d) 2/9
21 A printed page Is seen through a glass slab placed on it. The printed words appear raised, This is due to
ia) refraction at the upper surface of the slab ib) refraction at the lower surface of the slab
lc) partial reflection at the upper surface of the slab  (d) partial reflection at the lower surface of the slab
22 It ane puts one’s ears to the stee rail, the sound of a coming train can be heard even when the train cannot be

seen. One can conclude from this ocbservation that

{a) Sound travels faster in steel than in air
{b) Amplitude of sound in the rail is much larger than in air
ic) Sound can travel larger distances in solids than in air
{d) Quality of sound in rail is better than in air
The reasonable conclusions are
{a) AandC (b) AandB (c) Band C (d) Band O
23 Which is the greatest number amongst 2%, 3 ¥ 8% and g 9 7

(@ 9™ (k) gw {c) 3" (d) 2%

24 For what value of p are 2p+1, 13, 5p-3, three consecutive terms of an AP.7
{a) 2(b) -2 (c) a {d} -4

25 In a quadrilateral ABCD, if AB | €D, 2 D = 2 £8,AD = hand CD = a, then the side AB i of length
(al $+2b  {b) a+2b {c) 2a-b {d) a+h

26 A lady reaches her office 20 minutes late by travelling at a speed of 20km/h and reaches 15 minutes early by
travelling at 30km/h. By how much time will she be early or late if she travels at 25 kmy'h

{al 1minute early (b} 5 minutes early {£) 1 minute late {d) 5 minutes late
27 Unit’s digit in the number [12357)%5 s
{a) 1{b) 2 (c} 7 {d) 9
28 If a cube has surface area s and volume ¥, then the valume of the cube of surface are 25 is
{a) VZV b) 2V {c} 2v2Zv {d) 4V
29 AABC is a triangle with AB=AC and BC=9¢cm. | the height from A to BCis 6 cm, then the height from C ta AB incm, is
{a) 6.0 {b) 7.2 {c) 7.5 (d) 8.0
30 How many pairs of natural numbers are there so that difference of their sguares is 607
(a) 4 {h) 3 g 2 fd) 1
31 The sum of any three distinct natural numbers arranged in ascending order is 200 such that the second number
is a perfect cube. How many possible value are there far this number?
(a] 4 {b) 3 fo) 2 {d) 1

3z It the digits of a three-digit number are rese rved, then the number so obtained is less than the ariginal number
by 297, If the sum of the digits of the number is 8 and its hundred’s digit has the largest possible value, then
the ten's digit of the number s

{a) 3 (by 2 {c) 1 {d) 0
33 If the sum of all the angles of a polygon except one angle is 2220°, then the number of sides of the polygon is
(a) 12 {b] 13(c) 14 (d} 15

34 ABCD is a quadrilateral whose diagonals intersect sach other at the point O such 0A=0B=0D.
If LOAB = 30°, then the measure of 20DA4 is

fa) 30° (b} 450 €] 60" {d] 90°
a5 & shopkeeper purchased 300 pens and sold one out of four pens at no loss or profit. He sold the remaining
pens at a profit of 20%. What is his overall profit or loss percent on the whole transaction?
(a) 15% profit {b) 15% laoss (c) 12% profit {d) 12% loss
36 if aabb is a four digit number and also a perfect stuare, then the value of a + b is
{a} 12 (b} 11{c) 10 d} 9
37 Forthedata l,2,2,3,3,3,4,4,4,4 ............ 9, 9 the product of mean and mode equals.
[a) 89 (b) Aa5{c} =57 (dy 285
38 If the sum of the three consecutive odd number is a perfect square between 200 and 400, then the roof of this sum is
{a) 15 (b 1&6{c) 18 (dy 19
39 Which of the following is correct?
(a) Patola is a cotton cloth with gold thread () Chintz is a printed fine cloth with design

{c) Jamdani is a silk cloth with gold thread and embroidery (d) Bandanna is a fine cloth with decorative motifson it
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Q.40  Match the colums “Name” with “Work” and select the carrect alternatives

i Mame Work
A | James Mill | 1 | Founded the Asiatic Society of Bengal ——
| B. | William Carey |

N | Criticlzed the Orientalits
! C. | william Jonas | LN Surveyed the progress of education In vemacular schools
| B | William Adam IV | Established the Serampore Mission

{a) A-ll, 8-V, C-I, D-Il (b} A-HI, B, C-IV, Dl {c) A-ll, B-Il, C-1, D-Iv (d}) A-l, B-IV, C-Il, DI

041 Why was the Delhi Durbar organized in 1877 with pomp and show?
{a) The Viceroy wanted to display the wealth and prosperity of india.
{b) the British wanted to threaten the people by displaying their army strength.
{c]  The British wanted to replace the Mughal emperor form the minds of the people as their rufers.
{d} The Viceroy wanted to appease Queen Victaria.
.42  The non-Brahmin movement was launched by EV. Ramaswamy MNaicker mainly to

{a] create self-respect in the minds of Dravidians. (b) oust the Brahmins from Tamilnadu.
(€} humiliate the Brahmins. {d) acquire political power.
Q.43 Which Five Year Plan gave the maximum thrust on the industrial growth?
fa) First Five Year Plan (b)) Second Five Year Plan  (c) Third Five Year Plan {d) Fourth Five Year Plan
.44  Which of the following is not a state
{a) United Nations (h) Usa () India id) Madhya Pradesh
.45  What does the *mixed economy” in india mean?
{a} Companies of foreign countries can play an equal role in development of India’s economy.
{b) Special privileges are given to foreign companies by the government for investment in India.
[c] Private companies of India are allowed to invest in public sector.
{d) Private sectors play a complementary role along with the public sector.
Q.46  Which of the following comes under the category of footloose industry?
{a) Iromand Steel  {b) Cotton textile iC) Information technology (d) Petro-chemical
0.47  “Wheat requires moderate temperature and rainfall during growing season and bright sunshine at the time of
harvest.” Which other crop requires the same geagraphic conditions?

{a} Rice (b} Malze {c) Mustard () Jute
.48 Fundamental Law of the land is called

{a) State (b} Constitution ich Parllament Act (d) Ordinance
Q4% Freedom of media is guaranteed under

{a) Liberal system (b) Rule by the proletariat  (c) Benevalent ruler (d) Religious ruler

(.50 The principle of ‘checks and balances’ is related to
(a) Rule of Law (b) Fundamental Rights [c) Fundamental Dutles (d} Separation of Powers
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DELHI PUBLIC SCHOOL, BHILAI (C.G.)

d b
DATE: -09-09-2019 E FIRST TERMINAL EXAMINATION, 2019 Time: 3 Hours
CLASS : X P MATHEMATICS MM ; 80
No. of Printed Pages : 4

General Instructions:
(i) All questions are compulsory.
{11} There are 4 sections.
(iii} Section A comprises 20 questions of | mark each in which 17 questions are multiple choice type.
There are 3 internal choices in Section A,
(iv) Section B comprises 6 questions of 2 marks each with 3 interwal choices.
(v} Section C comprises 8 questions of 3 marks each with 4 internal choices.
(vi) Section D comprises 6 questions of 4 marks each with 3 internal choices.
(vi) Use of calculator is prohibited.

Section - A
1} The product of LCM and HCF of two numbers m and nis ;
(¢) m+n (b) m—-n (¢) m=n (d) none of these
2} Which of the following rational numbers is expressible as a terminating decimal?

124 131 2027 1625
W= o & o W o

3)  Which of the following is a polvnomial?
@ x2=5x+4/x+3 M x2—x+x%+1 () ﬁ+f_; (@ VZx? - 3WIx +46

4) If a pair of linear equations is consistent then their graph lines will be
(a) parallel (b} always coincident (c) intersecting or coincident (d) always intersecting
5)  The line segments joining the mid-point of the sides of a triangle form four triangles each of which is
(a) congruent to the original triangle (b) similar to the original triangle
(e) an isosceles mangle (d) an equilateral triangle

6) Which of the following pairs of lines in a circle cannot be parallel?

(a) Two chords (d) Two diameters (c) A chord and a tangent (d) Two tangents
7) The value of §in®37? + cos®379 is
(a) Y2 (M0 (&) 1 {d) none of these
8) Ifsin 26 =+/3, then g =7

(a)30° (b) 45° (c) 60" (d) 90°

9) In AABC and ADEF, £ZB=<sE, ZC=-F and AB =3DE. Then the two triangles are
(a) Congruent by not similar (b) Neither congruent nor similar
{c) Similar but not congruent (d) Congruent as well as similar

1% The number of zeroes of a cubic polynomial is
{a) morethan 3 (b) atmost3 (c) atleast3 (d) only 3

11} The pair of equations x = 2 and y=3 graphically represent lines which are
{a} coincident (b) parallel (c) intersecting at (3.2) (d) intersecting at (2,3)

12y Which of the following is a true statement?
{#) Two similar triangles are always congruent  (b) Two congruent triangles are always similar
{c} Two polygons are similar if their corresponding sides are proportional
{d) Two similar riangles are congruent if their shapes are same.

PTO



13)

14)

15)

Lo}

17)

18}

19)

20}

21

22)

i e

If PA and PB are two tangents to a circle with centre O such that ZAPB=80°,
then ZAQP=7?
(a) 40° (b} 50° (c)60° (d) 70°
(OR)
The length of the tangent from an external point P to & circle of radius 5 cm is 10 cm. The distance of
the point from the centre of the circle is :

(@) 8em (b) VIO em (o) 12em (d) V125 em

cotx®

In the given figure, if D is the mid-point of BC, the value of is

@2 ®; ©3; @:

coty?

If A ABC is right angled at C, then the value of cos(A+B) is
(@1l (b) 0 (o) % (d) none of these

(OR})
If tané = =, then the value of sin@+ cos@ is :

7 7 7 5
@ ®I ©7I @
If one zeto of 3x% + Bx + K be the reciprocal of the other, then the value of K is :
1 -1
@3 ®-3 (©); W<
The value of K for which the pair of linear equations 4x — 6y — 1 = 0 and 2x + ky = 7 = 0 represents
parallel lines is : (a) K=3 (b) K=2 (c) K=4 (d) K =3

In a rectangle, the angle between a diagonal and a side is 30° and the length of the diagonal is 8 cm.
What is the area of the rectangle?
(OR)

Find out the angle of depression of a point on the ground at a distance of 10v3 m from the base of a
tower, from the top of a tower whose height is 10 m.

A
In an equilateral AABC, D is the mid-point of AB and E is the

mid-point of AC. What is the ratio of area (AABC) 10 area (AADE)?
a e

In the given figure, DE and DF are tangents
from an external point D to a circle with centre A.

If DE = 5 ¢m and DE | DF. then what is the radius

of the circle? e

Section - B

Ravi and Sikha drive around a circular sports field. Ravi takes 16 minutes to take one round, while
Shikha completes the round in 20 minutes, If both start at the same point, at the same time, go in the
same direction, afler how much time will they meet at the starting point?

(OR)

The length, breadth and height of a room are 8m 25 cm, 6 m 75 cm and 4 m 50 cm respectively.
Determine the longest rod which can measure the three dimensions of the room exactly.

Ipand q are zeroes of the polynomial f(x) = 2x% — 7x + 3, find the value of p? + 2.
PTO



23)

24y

25)

26)

27)
28)

Ll

Solve : +/2x — 1."'5}' =:{]

VEx+ 2y =0
(OR)
Show that the given pair of equations is inconsistent. 3x —5y =7, 6x—10y=3
In right A ABD, right angled at A, AC L BD. D
Prove that AD* = BD=CD
i
B : P

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle which
touches the smaller cirele.
Show that cos38%c0s52° — 5in38%sin52° = 0.
(OR)
If tan24 = Cot(A — 187), where 2A is an acute angle, find the value of A.
Section - C
Prove that 4 — 3v/Z is an irrational number.
The tens digit of a two digit number is four times its units digit. The sum of the number and the units
digit is 42. Find the number.
(OR)
Places A and B are 100 km apart on a highway. One car starts from A and another from B at the same
time. If the cars travel in the same direction at different speeds, they meet in 5 hours. If they rravel
towards eéach other, they meet in 1 hour. What are the speeds of the two cars?

20) In the given figure, ABC and DBC are two triangles A .

30)

i1

32)

on the same base BC. I AD intersects BC at O,
area(AABC) A0
area(ADBC) DO =ty

{OR) 8
[Ethe areas of two similar triangles are equal, prove that they are congruent.
Diraw a right triangle with sides of lengths 5 cm and 4 ¢m making a right angle, Construct another

show that

triangle whose sides are %timas the corresponding sides of this triangle.

(OR)
Construct an isosceles triangle whose base is 7.5 cm and altitude is 3.5 cm. Then construct another

triangle whose sides are > times the corresponding sides of the isosceles triangle,

Using Fuclids® division lemma, show that the square of any positive integer is either of the form 3 m or
(3m+1) for some integer m.

Prove that the parallelogram circumseribing a circle is a rhombus.

PTO
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34)

i5)

36)

37)

38)

39)

40)

L L

Prove that (5iné + cosec6)? + (cosf + sec§)? = 7 + tan?8 + cot2d

(OR)
sind-2sin3@
Prove that PRy tand
Draw a circle of diameter 6 cm. Mark a point Q) which is 8 em away from its centre O, Construct

tangents QA & QB to the circle and measure their lengths.

Section - D

Find the zeroes of the quadratic polynomial 3x? — 3v3x + 2 and verify the relationship between the
zeroes and the coefficients,
Draw the graph of the equations © 2x + 3y=12
2y —1=x
Then find the area of the triangle formed by the lines representing these equations and the x-axis.

State and prove the Basic Proportionality theorem.
(OR)
State and prove the Pythagoras theorem.

secf—1 secl+1
Prove that ’secﬁ'+l+ /Eecﬂ_l = 2cosech

(OR)

sind—cosA+1 - 1
sind+cosA—1  secd—tand

Prove that

A straight highway leads to the foot of a tower. A man standing at the top of tower observes a car at an
angle of depression 30° which is approaching the foot of the tower with a uniform speed, Six seconds
later, the angle of depression of the car is found to be 60°. Find the time taken by the car to reach the
foot of the tower from this point.

(OR)
There is a small island in the middle of a 100 meire wide river and a Ll tree stands on the island, P & Q
are points directly opposite to each other on two banks and in line with the tree, If the angles of
elevation of the top of the tree from P and Q are respectively 307 and 45° find the height of the tree.

Find all the zeroes of the polynomial 2x* + 7x3 — 19x2 — 14x + 30, if two of its zeroes

are \Irf and — -fz_

Rk
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DELHI PUBLIC SCHOOL, BHILAI

Date : 16.09.2019 MID-TERM EXAMINATION, 2019 Time ; 3 Hrs.
Class - X SUBJECT — SCIENCE M.M. 80
b A R I e

R T o e L O

¥ 1 Mark questions are to be answered in one word or one sentence,

# 3 Marks questions are to be answered in 50 words.

¥ 5 Marks questions are to be answered in 70 words.

% In Assertion and Reason type first question of each part (Physics, Chemistry and Biology), a
statement of Assertion and corresponding statement of Reason are given below it, Select the
correct answer as :

{a) f both Assertion and Reason are true and Reason is the correct explanation of the Assertion.

(b} If both Assertion and Reason are true but Reason is not the correct explanation of the
Assertion,

{c) If Assertion is true but Reason is false.
[d} If Assertion is false but Reason is true.
{e) If both Assertion and Reason are false.

SECTION : A [PHYSICS) (27 MARKS)
0.01 Assertion and reason type quastions : (o1}

(I'} Assertion : In a myopic eye, the image of a distant-ohject is formed in front of the retina and nat
at the retina itself.

Reason : This defect may arise due to shortening of eye ball.
OR
[:JI) Assertion : The setting sun appears red.
Reason : Red colour is least scattered light due to high wave length.

Q.02 |dentify the correct relationship. {01)
fa} LA+ Le= i+ In (b) i+D=uve (c) e+ £i= £A+ 2D |d) None of these
Q.03 Choose, which of the following diagrams is correct completion of the given diagram : {01)

[

F P £ ar

2F
(a) (c)
|_--;h_'_* } ¥ é 3 —
| aF F \9) F dF
2F F 9] F &F '
|
(b} {d) Neone of these

Contd...2
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Q.04 The medium present between eye lens and retina is - {01)
{a} Agueous humour {b} Vitreous humaur {c) Water {d] Nape of these

Q.05 Magnification produced by a rear view mirror fitted in vehicles is - (01)
{a) less than ane {(b) more than one
(¢} equal to one {d) can be more than or less than one depending

0.06 Identify angles 1 and »2 shown in the figure and

write relationship between these two angles,

OR {01}
Write any two precautions related to experiment of studying refraction of light through glass slah.
Q.07 Inthe experiment of determining rough focal length of concave mirror, specify the nature of

image formed and mention, where this image will be formed. (01)
Q.08 Define presbyopia. {D1)
Q.09 Answer the Following : {03)

{a} Mame the part of eye which helps tg change focal length of eve lens.
(b} The phenomenan of obtaining white light from spectrum.

{c} Angle at which two refractive surfaces of prism are inclinad,

(d) Range of vision for normal eye,

{e} Write any two causes of hypermetrapia.

Q.10 Aconverging lens forms a real and inverted image of an object at a distance of 100 cm from it
Where should an object be Placed in front of the lens so that the size of image is twice the size of
the object? Also calculate the power of the lens.

OR (03)
{a) A dentist uses a mirror in front of a decayed taoth at a distance of 4 cm from the tooth to get

4 times magnified image. Use mirror formula to find the foeal length and nature of mirrar
used, What is the nature of image?

{b) A mirror produces a magnification of +3, When object Is placed at a distance of 20 cm from
mirror, find position of image,
Q.11(a) The sky appears dark to astronauts flying in space, why? {03)
(B} Which component of white light is least scattered by fog or smoke? Explain.
Q.12 {a) Define atmospheric refraction. How is this phenomenon responsible for appearance of stars at
higher positions as compared to their actual position? Explain using diagram, (05)
{b) State the funcitons of (i) Cornea (i) optic nerve in human eye. {One function each)
(€} Draw ray diagrams to show the defect myopia and it’s correction,
(d) A person wears lens of power — 60 for distant vision. Calculate the focal length of the lens.
Q.13 (a) What is meant by magnification produced by a spherical mirror? Cana spherical mirrar produce
magnification equal tg 17 Explain vour answer,
(b A B cm tall object js placed perpendicular to principal axis of concave mirror of focal length 12

cm. Distance of object from pole of mirror is 16 em. Find Position, nature and size of image,
Draw a ray diagram to show image formation in this case,

OR (05)
{a) Draw a ray diagram showing refraction of light through glass prism and label the following *
lil Angle of deviation (ii) Angle of emergence {iii) Refracted ray

(B} Anobject placed at a distance of 30 cm from a converging lens. The lens forms the image of the
object on a screen kept at 60 cm from lens, Find power of the lens.

(e} Define the power of accommodation of eye.
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SECTION : B (CHEMISTRY) (25 MARKS)

Q.14 () Assertion : Oxidation means gain of the oxygen atams. (01)

Reason : Reduction occurs with the loss of exygen atoms.
OR

{1} Assertion : Sodium bicarbonate, NaHCO, is not a base.

Reasan : MaHCTO; is an acid,

{(Write the correct option and option no. (Both) in gn. Nos. 2 to 4 {(MCQs)

Q.15 The colour of the ppt. formed when Na;50; solution reacts to BaCl; solution is — {o1)
(a) Yellow {b} Black i) White (d} Blue
.16 The acid present in ant sting Is — {01}
(2} Ethanoic acid (b} Methanolc acld (c} Oxalic acid {d) Tartaric acid
Q.17 A solution turns red litmus blue, its pH is likely to be - {01)
{a) 1 ib) 4 Ic) 5 (d} 10
Q.18 What are the nature of the solution (acidic/basic/neutral) if colour changed in pH paper is (01)
{a} Pink (b} Dark Blue?
OR
Two samples of solution A and B have pH values 5.5 and 1.5 respectively. Which sample has more
H"ion concentration and why?
Q.19 Mame one solution each whose pH value is (a) exact 7.0 and (b) 14 (01}
Q.20 ‘Whatis the chemical name of Flaster of Paris (POP)? Write its chemical formula also. Write an
equation to show the reaction of POP with water? (03)
Q.21 Write the balanced chemical equations for the following chemical reactions — (03)
(i} Hydrogen + Chlorine——>Hydrogen Chloride
{ii} Barium Chlaride + Aluminium Sulphate —=
Barium Sulphate + Aluminium Chlaride
(i) Sodium + Water — Sodium hydroxide + Hydrogen
CR
(i} Aluminium + Sulphuric acid —> Aluminium Sulphate + Hydrogen
(i} Hydrogen Sulphide + Chygen —> Sulphur dioxide + Water
(i) Potassium +Water —> Potassium Hydraxide + Hydrogen
Q.22 (a) Why does dry HC| gas not change the colour of the dry litmus paper? {03}
[b) What is the common name of the compound CaOCl; ?
Q.23 {a) What is a neutralisation reaction? Give one example with balanced chemical equation. (05)

(k) Give oneimportant use of POP, washing soda and baking soda.

Q.24 (a) Why does the colour of copper (i) sulphate solution change when an iron nail is dipped in

it? Explain with balanced chemical equation.

(b} Write one balanced chemical equation each for decomposition reaction where energy is
supplied in the form of heat, light and electricity.

OR {05)
(a) What is the best way to prevent tooth decay? Explain in brief.

{b] What is Chlor-Alkali process? Why is it named so? Explain with balanced chemical equation.
MName the gases evolved at anode and cathode in this process
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SECTION : C (BIOLOGY) (28 MARKS)

Q.25. Assertion : Lungs always contain a residual volume of air.
-} Reason ; It provides sufficient time far oxygen 1o be absorbed and for CO; to be released, (o1}

OR

,Lﬂ}&ssarﬂun : The Muscular walls of ventricles are thicker than atrium.
R
-

Q.26

Q.27

Q.28

Q.29

easan : This helps in preventing the backflow of blood,

Structural and functional unit of kidney is {01}
{a} Renal Pelyis ib) Nephridia ic}) nephron {d) neuren
Which chambers of human heart contain axygenated blood? {01)

(a) left atrium and left ventricle  (b) left atrium and right ventricle
[c] Right atrium and left ventricle (d) Right atrium and right ventricle

Which part of brain controls balance of human body? (01)
{a} cerebrum (b} cerebellum (c) optic labber id) spinal cord
List three characteristics of lungs which makes it an efficient respiratory surface, (03)

Q.30 What is reflex and reflex arc? Write the different components of reflex arc in proper sequence. (03)

Q.31

Q.32

.33

Q.34

Q.35

Name the parts of neuron : (03)
(8) Where information is acquired.
(b) Through which infermation travels as an electrical impulse.
(e} Where the impulse must be converted into a chemieal signal for onward transmission?
OR

Draw the structure of neuron and label the following parts “

Dendrite, cell body, and Axon
Define neuromuscular junction,

Name the parts of brain which perform the following funcitons : (03)
(a} maintaining the posture and balance of body.

(b} sensation of hunger and feeling full.

[c] seeing.

What is the function of kidney? How is the amount of urine produced regulated? Draw a diagram
of excretory unit of human kidney and label the following :
Bowman's capsule, Glomerulus, collecting duct and renal artery. [05)
OR
Planis absorb water from the soil. Explain how does the water reach the tree top? What is the
difference between transpart of water in xylem and transpiration in plants?

Define hormone. What is the cause of dramatic changes in your appearance when you

approached 10-12 years of age? Explain with help of an example how the timing and amount of
hormone released are regulated? {o5)

{01)

x‘:'?/ "%

9 -

- In the above experimental set up what is taken in the test tube marked as ‘X" what is the use of

Q.36
(a)

(b) ...

(c)

this substance in the experiment?

In the given diagram label the parts A, B, C and D.

R LT T T T P e —
R T T T T T —
B L LT T LT T T Pr e —
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42kl



@ DELH! PUBLIC SCHOOL, BHILAI

Date : 11,09.2019 MID-TERM EXAMINATION, 2019 Time : 3 Hrs.
Class - X SUBJECT - SOCIAL SCIENCE M.M. BO

.01

Q.02

Q.03

Q.04

Q.05

0.06

Q.07

Q.08

Q.09

Q.10

Q.11

Q.12
Q.13
Q.14

.15
Q.16

¥  Answer all the questions.
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HISTORY & CIVICS (40 MARKS)
Liberal nationalism, which dominated Europe in early nineteenth century supported {01)
{a} Personal freedom (b) Abolishing privileges of aristocracy and clergy
{c) Demand for constitution {d) All of these
Zallverein, formed by Prussia and jeined by many of the German states was a (01)
() German army {b) German police  (c) Custom union {d} Trade union
What is mean by the term "Feminist'? (01}
{a) Having the qualities considered typical of women
{b) A person who believes in equal rights and opportunities for women and men.
(c) The belief that men and women are equal.
(d} Men who look like women.
Indian society is of which type? (01)
{a) A matriarchal society (b) A patriarchal society (¢} A fraternal society (d) None of these
Which of the following is an example of halding together federation? [o1)
{a) Spain (b} Australia ic) India (d) adc
Main significance of Belgium Model of Power Sharing (01)
{a) Majoritarianism {b) power shared in all ethnic groups according to their population
{c) on the basis of adult franchise (d) none of the above
who led the Civil Rights Movemnent in USA? {01)
(a) Martin Luther (b} Martin Luther King Ir () Martin Davis (d) Benjamin Franklin
How many people speak French and Dutch in the capital city of Brussels? (01)
{a) 60 percent French 40 percent Dutch {b) 50% Dutch 50% French
(c) 80% French 20% Dutch {d) 80% Dutch 20% French
What steps did the French revolutionaries take to create a sense of collective identity among the French
people? (03)
Why did the Non Co Operation movement gradually slow down in towns and cities? (03}
OR
What is meant by liberalism?
Why is power sharing desirable? {03}
OR
Mention the steps taken by the Sri Lankan government to achieve Majoritarianism.
What do you mean by coming together federation? {03)
\What are major steps taken towards decentralisation in 13927 (03)
Why did Ghandhiji decide to launch the Non-co operation Movement in 19207 {05)
OR
What were the highlights of the Treaty of Vienna 1815?
How was the history of nationalism in Britain unlike the rest of Europe? (05
What is power sharing? What are the different forms of pawer sharing in modemn democracies?{1+4=05}
OR

E:{plain any five key features of Federalism. (2X1=02)
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Q.17 Two features A and B are marked on the given political outline map of India.

0.18

Q.19

Q.20

Q.21

Identify these features with the help of the following information and write thair
correct names on the lines marked near them:

{a} The place where Gandhiji organised”Satyagrah” in favour cotton mill workers.
(b) The place where the Indian National Congress Special Session was held in 1920,

INDIA

CAFTLNE NP ORI L)

GEOGRAPHY (20 MARKS)

Which major factor is responsible for the land degradation in Punjab, Haryana and Western Uttar

Pradesh? . {01)
{a) Mining (b} Industrialisation ({c) Overgrazing © {d) Over-irrigation

What is the use of resources without damaging the environment and conserving them for the future

generations, called? {01)
{a) Resources planning [b) Resources protection
(c} Sustainable development (d) Resources saving

Which oilseed accounts for about half of the major varieties of pilseeds produced in India? (01)
{a) Soyabean {b) Groundnut (c) Sunflower {d) Mustard

What are the mineral occurrances in alluvial deposits in sands and on the floors of valley, called? (01)
(a) Placer deposits (b) Lodes [c} Weins (d} Residual mass
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Q.22
Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

0.29
Q.30

Q.31

0.32

mn

What is the literal meaning of Kudre in Kannada language, with reference to Kudermukh? {01)
(&) O {b) Monkey (ciHorse (d) Camel
Which is the basic raw material required far the cement industry? (01)
(a) Limestone ib) Coal {c) Bauxite (d}) Marble
What are the renewable and non-renewable resources? Give some examples. {1#1+¥+1=03)
OR

Supgest the initiative taken by the government to ensure the increase in agricultural production.  {03)

Distinguish between Ferrows and Non Ferrows minerals, {Any three points) {03)
OR

What is the utility of manganese? Name the largest manganese ores producing state in India, (2+1=03)

Mame two important beverage crops grown in India? Describe the most important one under the

following heads. {¥+¥5+141+1+1=05)
(I} Climate (i) Soils (ill) Labour {iv] Distribution
Locate and label the following on political map of India. {Any three) (1+1+1=03)
(i} Area of arid soil {ii} Hirakund Dam {lii) Largest Sugarcane producing state
{iv) Bailadila iron ore mines (v} Bellary iron ore mines
ECONOMICS (20 MARKS)
Chaose the most appropriate answer :- {1x6=06)

(1) which of the following neighbouring country has better performance in terms of human

development than India :

i) Bangladesh {ii) Mepal {iif) 5ri Lanka (iv) Pakistan
{2) Underemployment occurs when people
{1y Do not want to work (b} are working in a lazy manner
(iii) are working less than what they are capable of doing  {iv) are not paid for their work
(3) Production of a commodity, mostly through the natural process, is an activity in ............ Sector.
(i} Primary fii) Secondary {ili) Tertiary (iv) Information Technolagy

{4) The exchange of goods for goods is

(i} Banker's option {ii} Bills of Exchange (ili} Barter {ivl] Currency
{3) The economic activities are classified as Organised and Unorganised Sectar on the basis of =
(1} Mumber of workers emplayed in the enterprise {ii) Ownership of assets
(iii) Mature of economic activity (iv) Employment Conditions
{6) Development of a country can generally be determined by :-
(i} Its per capitaincame (i} its average literacy level
(i) health status of its people {iv) all of the above,
How do banks make use of their deposits? What is the main source of income of the banks?  {1+2=03}
Explain three ways in which employment can be increased in rural areas. {03)
OR
What does NREGA 5tand for? Write any two characteristics of NREGA, 20057 (1+2=03}
What do you mean by 'Sustainability of Development'? Why is the issue of sustainability important for
development? (1+2=03)
Explain any five reasons for the rising importance of tertiary sector in the economy. {05)
OR
Distinguish between organized & unorganized sector giving three points of distinction. How can the
warkers in unorganized sector in Rural areas be protected? (3+2=05)
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